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1 T BEX 43 | &b B 3 DB 8
2 T SRR 2 B BF 4 DB 5
2 T BHA K 2 ®HRK wHE 4 DB 5
4 T MEK 59 FilE ZE2 3 LB 4
4 T BEfEM 21 [/NEFEFE  HREA 2 DB 4
4 T BB K 24 |#EE B 2 DB 4
4 T EEUK 48 E BB 1 DB 4
8 T BEX 1 kEE E# 4 DB 3
8 T BREX 13 |l B 4 DB 3
8 T BEX 44 Wik Kih 4 DB 3
8 T B{AX 4 thAR it 4 DB 3
8 T MEK 26 INE IEEX 3 DB 3
8 T BARX 17 £k & 2 DB 3
8 T ILEK 8 HLEt # 2 DB 3
15 T BfEMA 3 T EE 4 DB 2
15 T REUK 34 w F&E 4 DB 2
15 T BEX 2 Hp #X 4 DB 2
15 T BEX 10 shit AF—HA 4 LB/P 2
15 T 22N 20 WA fE 4 DB 2
15 T MEK 6 WNE B2 4 LB/P 2
15 T E:ON 22 A =¥ 4 DB 2
15 T BiEA 33 A S2—ER 3 DB 2
15 T BARX 3 E—F4— JOvvYy 3 DB 2
15 T AAX 49 BEAK i 3 DB 2
15 T EEUK 99 (L E 3 DL 2
15 T =2F N 2 ElZ HA 3 DB 2
15 T =2F: N 23 |k FE 3 DL 2
15 T AAX 26 MR X 2 DB 2
15 T BARX 35 T EH 2 DB 2
15 T SRR 22 EmH BN 2 DB 2
15 T 22N 21 A EBA 2 DL 2
15 T BRA K 271 |&E EEN 1 DB 2
15 T BEAK 52 &% =t 1 LB 2
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34 T BEfEM 38 ME EBE 4 DB 1
34 T BiE@A 47 RE =2 4 LB 1
34 T SEEUK 16 mR BEK 4 DB 1
34 T REUK 27 = BE 4 DB 1
34 T EREUKR 47 B B 4 LB 1
34 T BEX 26 |t 1&KEA 4 DB/K 1
34 T BrEX 56 BER XKE 4 DL 1
34 T =2 N 25 EL Eth 4 DB 1
34 T B{RX 33 B8 shE 4 DB 1
34 T B{AXK 47 BE Bt 4 LB 1
34 T BfEMA 24 AR R 3 DB 1
34 T AAX 18 KXH = 3 DB 1
34 T EEUK 42 |LuEE 4 3 DB 1
34 T BEX 4 Ik E1E 3 LB 1
34 T BEX 37 |\ @E 3 DB 1
34 T BrEX 42 HAX E—H 3 LB 1
34 T BEX 52 2L BE 3 LB 1
34 T BEX 92 Bk Eik 3 DL 1
34 T BHA K 1 £k & 3 DB 1
34 T =22 N 32 o, N 3 DB 1
34 T B{AX 18 XE B 3 DB 1
34 T B{AXK 55 BiE % 3 DL 1
34 T MEK 52 2% B—H 3 LB 1
34 T AAX 1 J4 XY EF—FR 2 DB 1
34 T BARX 12 INEE Flz 2 DB 1
34 T SRR 58 T g 2 LB 1
34 T BrEX 30 PR =A 2 DB/P 1
34 T BrEX 55 Rk IBHEE 2 LB 1
34 T BEAK 38 |mngE EiE 2 DB 1
34 T BRA K 91 ®F ZEKX 2 DL 1
34 T BARX 21 ®H BE 2 DB 1
34 T B{ARX 29 (85K XiE 2 DB 1
34 T IIHK 56 B {EXER 2 LB 1
34 T BiEA - (= oY 8 1 DB 1
34 T BiE@A - KA X 1 DB 1
34 T AAX 16 [hF EX 1 LB 1
34 T BEX - T 1 LB 1
34 T =P PN 15 IR OK— 1 LB 1




